EARAROBEEIERT — 2 N— IBISH —F

201854 H 148 (£) 1EMAE4H

m 33— 8% 7% 3m% ‘ x4 /™ ‘ [eEmsm]  — |4 (&) 13000 &
[AE£] 1%&:210,000”M ~ 2#%:63,000” ~ 37%&:21,000 ™  43%&:13,000 M 53 :8,000 0
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
N N FE #3142 =] 125. -4-3- . — HEXE (£E)
118l 9 B ITAFH— 3 R 1(2_5)3 3-4-3-1 | 39.6 2 (4_517) mi}%E =1
L:O-J X121 B:¥7/ by TLTFq BXRAS
I it 3 | RBER® 1:25.6 4-3-4-2 [39.8| — 4 466 | HENE (1)
EH 3|\ VIIVIITA 54.0 (1 1/2) (ta) | EATH—ER
X T—RMNVZXIT—h BITILTAUZR B BB
N BEEE : —7-6- — hEFE ((£%)
3|55 b—E>70OU7 s 25270 1('12/52')7 e |84 ’ :;7) =Mk -
RV KYTYRIR BAN—HF Ly K HREM TRF477—L4
2 . # 3 | WO 1:26.4 2-2-2-3 | 40.7| - 1 436 | EEXEE (EB)
4188 |3IRF—TTT> 56.0 (8) () | TIEZE
L:ECTAYY BiARLY TV ILIL, YRET7—L4A
- 4 3 | HKIEA 1:26.6 6-6-7-7 | 40.2| — 8 47 | MBE (EB)
5011 |=3A% A53.0 (1 1/4) o |ZHEE
L:FHh¥<T71RX8 B:T7IT7—TN [GES=Y]
. o HHIEE :26. 55— . = =/EEAN (BB
N N # o | g8 120 | 5650 [z = 0 @ S n e
LFAETFLTA N BACHTLAT A A&
# 3 EC 1:27.1 1-1-1-5 | 41.4| — | 5 | 420 [WEEA (£8)
d > FARKAE] 54.0 ©1/2) un | BART
R:hE-Xa—F— B:5T71-7 FARBRER 5
i £ 3| RER= 1:28.6 8-8-8-8 |40.7| — 7 | 464 |FRINES (£EB)
8l7|7 56.0 (8) (-2) BAET
RIZRRT—NSF— B3y RIzA KBS
5 B . W& :28. -9-9- . — AR (EB)
oM 6| TARTHER 43 TR 1(218)8 9-9-9-9 | 40.6 6 ;1_323; Lae "
7S5y 44K B:a7LR7rO— =2t
® I—F—@EBIERL
13—7+— 2,8,9,3,4,1,5,7,6
2o=3F= 2,8,3,9,4,1,5,7,6
3T—7— 2,8,9,3,4,5,1,7,6
41—F— 9,3,8,5,2,4,1,7,6
[ N5
-y 9 4108 | | 71 K 3-9 330/ | | B = 3-8 660M | | =& 3-5-9 2,440
# B 9 140 5-9 200M B E 3-9 1,7108 EE 9-3-5 16,620
3 210/ 3-5 580M B H 9-3 2,910M
5 160/

ABICOVWTRDTEEERROODE. TR LIV,




